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Question Id : 6863406269 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 6863406270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIfig Bt oia I foa- 09 § -

1. O
2.Udh
3. dH
4. 4R

Options :

68634024801. 1

68634024802. 2

68634024803. 3
68634024804. 4

Question Number : 2 Question Id : 6863406271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634024805. 1



68634024806. 2
68634024807. 3
68634024808. 4

Question Number : 3 Question Id : 6863406272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634024809. 1
68634024810. 2

68634024811. 3
68634024812. 4

Question Number : 4 Question Id : 6863406273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024813. 1

68634024814. 2

68634024815. 3
68634024816. 4
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Question Number : 5 Question Id : 6863406274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024817. 1
68634024818. 2
68634024819. 3
68634024820. 4

Question Id : 6863406269 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions
Question Number : 1 Question Id : 6863406270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634024801. 1
68634024802. 2
68634024803. 3
68634024804. 4

Question Number : 2 Question Id : 6863406271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024805. 1
68634024806. 2
68634024807. 3
68634024808. 4

Question Number : 3 Question Id : 6863406272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024809. 1
68634024810. 2
68634024811. 3
68634024812. 4

Question Number : 4 Question Id : 6863406273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 5 Question Id : 6863406274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024817. 1
68634024818. 2
68634024819. 3
68634024820. 4

Sub-Section Number : 2
Sub-Section Id : 686340194
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863406275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024821. 1
68634024822. 2
68634024823. 3
68634024824. 4

Question Number : 6 Question Id : 6863406275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024821. 1

68634024822. 2

68634024823. 3
68634024824. 4

Question Number : 7 Question Id : 6863406276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634024826. 2
68634024827. 3
68634024828. 4

Question Number : 7 Question Id : 6863406276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634024825. 1
68634024826. 2

68634024827. 3
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Question Number : 8 Question Id : 6863406277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024829. 1
68634024830. 2
68634024831. 3
68634024832. 4



Question Number : 8 Question Id : 6863406277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024829. 1
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68634024831. 3
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Question Number : 9 Question Id : 6863406278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634024833. 1
68634024834. 2
68634024835. 3
68634024836. 4

Question Number : 9 Question Id : 6863406278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. $ad A, C.D
2. $ad B, C. E
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Options :

68634024833. 1
68634024834. 2
68634024835. 3
68634024836. 4

Question Number : 10 Question Id : 6863406279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024837. 1
68634024838. 2
68634024839. 3
68634024840. 4

Question Number : 10 Question Id : 6863406279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024837. 1
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68634024839. 3
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Question Number : 11 Question Id : 6863406280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863406280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024841. 1
68634024842. 2
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Question Number : 12 Question Id : 6863406281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863406281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 13 Question Id : 6863406282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6863406282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634024849. 1
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Question Number : 14 Question Id : 6863406283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024853. 1
68634024854. 2
68634024855. 3
68634024856. 4

Question Number : 14 Question Id : 6863406283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634024855. 3
68634024856. 4

Question Number : 15 Question Id : 6863406284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024857. 1
68634024858. 2
68634024859. 3
68634024860. 4

Question Number : 15 Question Id : 6863406284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 6863406285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024861. 1
68634024862. 2
68634024863. 3
68634024864. 4

Question Number : 16 Question Id : 6863406285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634024861. 1
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68634024864. 4

Question Number : 17 Question Id : 6863406286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634024865. 1
68634024866. 2
68634024867. 3
68634024868. 4

Question Number : 17 Question Id : 6863406286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634024865. 1



68634024866. 2
68634024867. 3
68634024868. 4

Question Number : 18 Question Id : 6863406287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634024869. 1
68634024870. 2

68634024871. 3
68634024872. 4

Question Number : 18 Question Id : 6863406287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634024869. 1
68634024870. 2
68634024871. 3
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Question Number : 19 Question Id : 6863406288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024873. 1
68634024874. 2
68634024875. 3
68634024876. 4

Question Number : 19 Question Id : 6863406288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634024874. 2
68634024875. 3
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Question Number : 20 Question Id : 6863406289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024877. 1
68634024878. 2
68634024879. 3
68634024880. 4

Question Number : 20 Question Id : 6863406289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634024889. 1
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Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 1

Sub-Section Id : 686340195
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 6863406295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Let [x] denotes the integral part of x, if J{] [x+x 3]5.":{ = d then

oy
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Options :

68634024901. 1
68634024902. 2
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 27 Question Id : 6863406296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

If quantity of water equal to 430 ml passed down in 10 minutes. under an effective constant head of 40 cm.

= 0y - . . . = j . .
then co-efficient of permeability of soil sample.6cm in height and 50 em® in cross-sectional area is:

1. 3 m/day

| ]

. 2 m/day

LFS]

. 1.86 m/day
4. 2.76 m/day

Options :

68634024905. 1
68634024906. 2
68634024907. 3
68634024908. 4

Question Number : 27 Question Id : 6863406296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024905. 1
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68634024907. 3
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 20 cm square heating plate settles by 7 mm in the plate load test on cohesionless soil, when the intensity of

loading is 180 KN/m?. Estimate the settlement of a shallow foundation of 1.6 m square under the same
intensity of loading

1.14.74m

b2

. 16.74mm
3. 13.74mm

4. 10 mm

Options :

68634024909. 1
68634024910. 2
68634024911. 3
68634024912. 4

Question Number : 28 Question Id : 6863406297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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| S

16.74mm
3.13.74mm
4, 10 mm
Options :
68634024909. 1
68634024910. 2

68634024911. 3
68634024912. 4

Question Number : 29 Question Id : 6863406298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Considerable loss of shear strength due to shock or disturbance is exhibited by

1. Under-consolidated clays

| B

. Normally consolidated clays
3. Over consolidated clays

4. Organic soil



Options :

68634024913. 1
68634024914. 2
68634024915. 3
68634024916. 4
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634024913. 1
68634024914. 2
68634024915. 3
68634024916. 4

Question Number : 30 Question Id : 6863406299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For designing end bearing piles of square cross-section in clays having average unconfined compressive

strength of 8t/m?. the net ultimate bearing capacity may be taken as. take Nc =9

1.36 t/m?

| ]

5
.27 tm*

5
3. 32 t'm~

4. 30 t/m?

Options :

68634024917. 1
68634024918. 2
68634024919. 3
68634024920. 4

Question Number : 30 Question Id : 6863406299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 30 t/m?

Options :

68634024917. 1
68634024918. 2
68634024919. 3
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Question Number : 31 Question Id : 6863406300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a well-graded sand, the coefficient of curvature should be-

1. cu>=4.00

2

.eu=6.00

3.cu=1.00

4. cuz=3.00

Options :

68634024921. 1
68634024922. 2
68634024923. 3
68634024924. 4

Question Number : 31 Question Id : 6863406300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.cu=4.00

[ ]

.cu=6.00
3.cu=1.00
4, cu> 3.00

Options :
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Question Number : 32 Question Id : 6863406301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hydraulic Jump occurs when:

1. Supercritical stream meets a subcritical stream of sufficient depth

(B

. Suberitical stream meets a Supereritical stream of sufficient depth
3. No meeting of stream occurs
4, Incoming Supercritical stream undergoes an abrupt fall in depth
Options :
68634024925. 1
68634024926. 2

68634024927. 3
68634024928. 4

Question Number : 32 Question Id : 6863406301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1. Aa-wiTd= 81, 7415 TE0E a7 T9-Fiaw 8 F a7

| B}

. IYU-FT 9/, 79" TEE 991 R Af-Fas g9 8 T g

4, TETT ATG-Fla= 9N AHaE =9 § TR0 § S fE R

Options :

68634024925. 1
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Question Number : 33 Question Id : 6863406302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Newton's law of viscosity states that:

1. Shear stress on a fluid element layer 1s directly proportional to the rate of shear strain

b2

. Shear stress on a fluid element layer is inversely proportional to the rate of shear strain

L¥ 5]

. Shear stress on a fluid element layer 13 directly proportional to the rate of Kinematic viscosity
4. Shear stress on a fluid element layer 1s inversely proportional to the rate of Kinematic viscosity

Options :

68634024929. 1
68634024930. 2
68634024931. 3
68634024932. 4

Question Number : 33 Question Id : 6863406302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024929. 1
68634024930. 2
68634024931. 3
68634024932. 4

Question Number : 34 Question Id : 6863406303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The critical depth and the corresponding specific energy for a Rectangular Channel having discharge of 5m?/s
and Bed width of 2.5m are

1. 0.741m & 1.11m respectively

| ]

.0.516m & 2.11m respectively
3.0.512m & 1.62m respectively
4. 0.641m & 1.52m respectively

Options :



68634024933. 1
68634024934. 2
68634024935. 3
68634024936. 4

Question Number : 34 Question Id : 6863406303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024933. 1
68634024934. 2
68634024935. 3
68634024936. 4

Question Number : 35 Question Id : 6863406304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If n = porosity, Sy = specific yield & Sr = specific retention for an acquifa material. Which of the followmg
options shows the correct relationship amongst these properties

l.n=Sy+Sr
2.n=8y—5r
3.n=8yx8r
4. n = Sy/Sr

Options :

68634024937. 1
68634024938. 2
68634024939. 3
68634024940. 4

Question Number : 35 Question Id : 6863406304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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l.n=S8Sy+5Sr
2.n=8y-Sr
3.0n=8yxS8r
4. n= Sy/Sr

Options :

68634024937. 1
68634024938. 2
68634024939. 3
68634024940. 4

Question Number : 36 Question Id : 6863406305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Relationship between kinematic Viscosity & Dynamic Viscosity is:

. S . Dynamic Viscosily
L. kinematic Viscosity = ———————
Density

2. kinematic Viscosity = Dynamic Viscosity * Density

1
Dynamic Viscosity

3. kinematic Viscosity =

Dynamic Viscosity

4. kinematic Viscosity = —— .
Surface Tension

Options :

68634024941. 1
68634024942. 2
68634024943. 3
68634024944, 4

Question Number : 36 Question Id : 6863406305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024941. 1
68634024942. 2
68634024943. 3
68634024944. 4

Question Number : 37 Question Id : 6863406306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The gross commanded area for a distributary 1s 6000 hectares. 80% of which is cultable irrigable. The intensity
of irrigation for Rabi season 1s 40%. The area to the irrigated in Rabi season is:

1. 2000 hectares

| )

. 2400 hectares
3. 1910 hectares

4. 1920 hectares

Options :

68634024945. 1
68634024946. 2
68634024947. 3
68634024948. 4

Question Number : 37 Question Id : 6863406306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 2000 hectares
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. 2400 hectares
3. 1910 hectares

4. 1920 hectares

Options :

68634024945. 1
68634024946. 2
68634024947. 3
68634024948. 4

Question Number : 38 Question Id : 6863406307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 cumecs of water is delivered to a 30 hectare field. for 5 Hours. Soil probing after the irrigation indicates
that 0.3 meter of water has been stored in the root zone. Farm efficiency comes out to be :

1.45%
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&

4. 100%

Options :

68634024949. 1
68634024950. 2
68634024951. 3
68634024952. 4

Question Number : 38 Question Id : 6863406307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024949. 1
68634024950. 2
68634024951. 3
68634024952. 4

Question Number : 39 Question Id : 6863406308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Kirpich equation is used to determine which one of the followimg?

1. Run-off from a given rainfall
2. Base time of unit hydrograph
3. Time concentration in run-off hydrograph
4. None of the above

Options :

68634024953. 1

68634024954. 2

68634024955. 3
68634024956. 4

Question Number : 39 Question Id : 6863406308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634024953. 1
68634024954. 2

68634024955. 3
68634024956. 4

Question Number : 40 Question Id : 6863406309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In drawing BMD and SFD for a loaded beam the point of contraflexure is one which has

1. Shear Force as zero

[ ]

. Bending moment as zero

L]

. Shear Force changes sign
4. Bending moment changes sign

Options :

68634024957. 1
68634024958. 2
68634024959. 3
68634024960. 4

Question Number : 40 Question Id : 6863406309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634024957. 1
68634024958. 2

68634024959. 3
68634024960. 4

Question Number : 41 Question Id : 6863406310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The stress distribution in I section beam 1s shown in adjacent Diagram. The exact name of this stress
distribution 1s

T
_/

| section Beam  Stress Distnibution

1. Bending stress
2. Shear stress

3. Bearing stress

4. Torsion stress

Options :

68634024961. 1
68634024962. 2
68634024963. 3
68634024964. 4

Question Number : 41 Question Id : 6863406310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634024961. 1
68634024962. 2
68634024963. 3
68634024964. 4



Question Number : 42 Question Id : 6863406311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s correct match?

1. Purlin ISLC

| B

. Girder ISHB

LY ]

. Joist ISF
4. Castellated girder ISA

Options :

68634024965. 1
68634024966. 2
68634024967. 3
68634024968. 4

Question Number : 42 Question Id : 6863406311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eratEs § 3 F== 1 ?TF\-':_ G %?

1. gfd1sLC

2. THISHB
3. T ISF
4. gita T ISA

Options :

68634024965. 1
68634024966. 2
68634024967. 3
68634024968. 4

Question Number : 43 Question Id : 6863406312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The optimum depth of plate girder is given by —

where M.k.r,,,, and r,,; have their usual meaning

4 0.33
1 Mk"
i
2.c>d
0.33
3 )_'M
ik
-I- i. '2 'E Jw;.i}i

Options :

68634024969. 1
68634024970. 2
68634024971. 3
68634024972. 4

Question Number : 43 Question Id : 6863406312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

& My, 70, F & EE =

0.33
[ M
¥i4

—

| B}
%]

W
a,

Options :

68634024969. 1
68634024970. 2
68634024971. 3
68634024972. 4



Question Number : 44 Question Id : 6863406313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Calculate the number of bricks required for a 5 cubic meter brick wall?

1. 250

[ ]
o
=
=

4. 2500

Options :

68634024973. 1
68634024974. 2
68634024975. 3
68634024976. 4

Question Number : 44 Question Id : 6863406313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

5 cubic meter 32 F fER 794 = fou @EvIE 34 H HE S T R

1. 250

| ]
h
=
=

4. 2500

Options :

68634024973. 1
68634024974. 2
68634024975. 3
68634024976. 4

Question Number : 45 Question Id : 6863406314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The main purpose of soundness test of the cement is to determine the

1. Change i volume of cement after setting

[

. Strength

L]

. Fineness
4. Time talken to harden

Options :

68634024977. 1
68634024978. 2
68634024979. 3
68634024980. 4

Question Number : 45 Question Id : 6863406314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
2. wiiFa
3wz
Options :
68634024977. 1
68634024978. 2

68634024979. 3
68634024980. 4

Question Number : 46 Question Id : 6863406315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radius of a horizontal circular curve 1s 100 m. The design speed 1s 50 kmph and the design coefficient of
lateral friction 1s 0.15. Calculate the super elevation required if full lateral friction 1s assumed to develop

1.0470

[ ]

.0.150
3. 0.070
4.0.047

Options :
68634024981. 1



68634024982. 2
68634024983. 3
68634024984. 4

Question Number : 46 Question Id : 6863406315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ToHT &fast 9919 5% *1 w100 m 7| 35 feame ? 50 kmph # 1 wvd o = femm o= 0.15 3| sEves grE-T==a

1.0.470

B

.0.150

[ ¥]

. 0.070
4. 0.047

Options :

68634024981. 1
68634024982. 2
68634024983. 3
68634024984. 4

Question Number : 47 Question Id : 6863406316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In signal designing by IRC guidelines and Webster's approach, the pedestrian walking speed for pedestrian
clearance time for crossing road is taken as

1.1m/s

| )

2 m's
3.1.5m's
4, 2.5 m/'s

Options :

68634024985. 1
68634024986. 2
68634024987. 3
68634024988. 4

Question Number : 47 Question Id : 6863406316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[RC i 7 9oLe & 99 & F99% FEe #1 (57 % |, 127 T30 & 95 T° 7 (a0 Ted 109 = HH] 999 & fau

1.1 m's

| )

2 'S

Lad

.1.5m's
4. 2.5m's

Options :

68634024985. 1
68634024986. 2
68634024987. 3
68634024988. 4

Question Number : 48 Question Id : 6863406317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Joints in concrete pavements are used to

1. Drainage purpose

[

. Provide stability to concrete slab

LF¥]

. Provide extra grip to tyre-pavement contact surface
4. Release stresses induced due to temperature variation

Options :

68634024989. 1

68634024990. 2

68634024991. 3
68634024992. 4

Question Number : 48 Question Id : 6863406317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2. 9= & Telg o A & = T

Options :
68634024989. 1



68634024990. 2
68634024991. 3
68634024992. 4

Question Number : 49 Question Id : 6863406318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Determine the braking distance for the following situation: Vehicle moving on a 3 per cent downhill grade at
an initial speed of 50 km/h, final speed 20 km/h. assume coefficient of friction as 0.5 and reaction time 2.5 sec

1. 1558 m

| ]

17 85Tm
3.54.39m

4. 30m

Options :

68634024993. 1
68634024994. 2
68634024995. 3
68634024996. 4

Question Number : 49 Question Id : 6863406318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~

wifm iy 20 km/hr. %) = s D1 0.5 e arfefin www = 2.5 sec. W

1.15.58m

[ B

- ¥T:571n
3.54.39m
4, 30m

Options :

68634024993. 1
68634024994. 2
68634024995. 3
68634024996. 4

Question Number : 50 Question Id : 6863406319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IRC: 73— 1980 [79] and IRC: 86 — 1983[80] suggest the maximum limit of super-elevation for hilly terrains as

1.0.04

[

.0.07
3.0.10

4.0.15

Options :

68634024997. 1
68634024998. 2
68634024999. 3
68634025000. 4

Question Number : 50 Question Id : 6863406319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRC : 73 — 1980 [79] 1 IRC : 86 — 1083 [80] 7= == % % % Tardt wi W qwi-v==1 H1 arferseam iy

o

1.0.04

| B}

. 0.07
3.0.10
4. 0.15
Options :
68634024997. 1
68634024998. 2

68634024999. 3
68634025000. 4

Question Number : 51 Question Id : 6863406320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The duration of green time in a traffic signals depend on

1. Traffic density

[

. Traffic volume
3. Traffic speed

4. All of the above

Options :
68634025001. 1



68634025002. 2
68634025003. 3
68634025004. 4

Question Number : 51 Question Id : 6863406320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1. 35 (TEE) = 7

ATATATE = T
4, Fyirratay o

Options :

68634025001. 1
68634025002. 2
68634025003. 3
68634025004. 4

Question Number : 52 Question Id : 6863406321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following units is employed for the removal of particulate matter above 50p m size?

1. Gravity settling chamber

| B

. Cyclone

. Fabric filter

LF¥]

4. Electrostatic Percipitator

Options :

68634025005. 1
68634025006. 2
68634025007. 3
68634025008. 4

Question Number : 52 Question Id : 6863406321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=
O

= 4§ g 9= 1 3990 30p F9 ¥ At = HiEaws = 504 = e e 30
1. A S TR
2. FFAm
3. wrg S F=
4, TmpTiiE SEETE
Options :
68634025005. 1
68634025006. 2

68634025007. 3
68634025008. 4

Question Number : 53 Question Id : 6863406322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The typical density in kg/cum (insitu) of well-compacted muncipal solid waste in landfill is in the range of

1. 100 to 300

[

. 310 to 500
3.550 to 850
4. 900 to 1100
Options :
68634025009. 1
68634025010. 2

68634025011. 3
68634025012. 4

Question Number : 53 Question Id : 6863406322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

defFa § 9u ¥R g9 ERAtETT 99 avigE = 55 99 ke/cum. (W wH), 1 569R F @9 §7

1.100= 300

)

.310= 500

3. 550% 850

4.900=1100

Options :
68634025009. 1



68634025010. 2
68634025011. 3
68634025012. 4

Question Number : 54 Question Id : 6863406323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The reagent used for the titration of hardness is-
1. Sodium thio sulphate
2. EDTA

3. H,S0,

4. None of the above

Options :

68634025013. 1
68634025014. 2
68634025015. 3
68634025016. 4

Question Number : 54 Question Id : 6863406323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2. EDTA
3. H,50y
4w F A

Options :

68634025013. 1

68634025014 2

68634025015. 3
68634025016. 4

Question Number : 55 Question Id : 6863406324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Most poisonous pollutant in water is-
1. Zine

2. Arsenic

L¥ 5]

. Phosphates

4. Cadmium

Options :

68634025017. 1
68634025018. 2
68634025019. 3
68634025020. 4

Question Number : 55 Question Id : 6863406324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A T TTE] T Fa Faiied e SgeE w A R
1. o=
2. WEHE
Options :
68634025017. 1
68634025018. 2

68634025019. 3
68634025020. 4

Question Number : 56 Question Id : 6863406325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The equivalent weight of CaSOy4 in mg/meq is

1.58

| )
|
=]

3.68
4. 88
Options :

68634025021. 1
68634025022. 2



68634025023. 3
68634025024. 4

Question Number : 56 Question Id : 6863406325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CaSO, #, mg/meq § Frazi=i# 91 a7 &7

1.58

3. 68
4. 88

Options :

68634025021. 1
68634025022. 2
68634025023. 3
68634025024. 4

Question Number : 57 Question Id : 6863406326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Molarity 1s related to mg/1 as:

1. Molarity = mg/l * molecular weight = 10°

3
2. Molarity = mg/l x 10
molecular weight
w * g % 3

SRR OO WEIsHEy 1D

mg/l

mg/1
4, Molarity =

molecular weight = 10°

Options :

68634025025. 1
68634025026. 2
68634025027. 3
68634025028. 4

Question Number : 57 Question Id : 6863406326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



mg/l F Fmrm 1 ¥ Ty 77
L. gmmET = me [/l x@ﬂ‘qﬂxlﬂa

, T = mg /1 1072

AT 9T

THITET = AT 97 X 102

3.
mg {1
: TETET = mg/l
| Y IR X 103

Options :

68634025025. 1
68634025026. 2
68634025027. 3
68634025028. 4

Question Number : 58 Question Id : 6863406327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The theoretical oxygen demand (THOD) of 54.45 mg/l of glucose(CzH;,05) is:

1.58.08 mg/1 0,

| )

. 68.08 mg/1 O,

L¥%]

. 78.88 mg/1 O,
4.48.88 mg/'1 O,

Options :

68634025029. 1
68634025030. 2
68634025031. 3
68634025032. 4

Question Number : 58 Question Id : 6863406327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



54.45 mg/l =8 (CgH ,04) = fau (THOD) #zifae siesi=H 7 & 77

1. 58.08 mg/1 O,

| )

. 68.08 mg/1 O,
3.78.88 mg/1 O,
4.48.88 mg/1 0,

Options :

68634025029. 1
68634025030. 2
68634025031. 3
68634025032. 4

Question Number : 59 Question Id : 6863406328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Geodimeter 1s based on
1. High frequency Radio waves
2. Propagation of modulated light waves

3. The visible light as carrier waves with frequency of the order 5x10° Hz
4. Propagation of modulated light waves

Options :

68634025033. 1
68634025034. 2
68634025035. 3
68634025036. 4

Question Number : 59 Question Id : 6863406328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

£

STEET FEranad © F e W aneniE B

1. 5== =g arel F5at 76
2. UTe D w1 7t 1 981
3.5 x 10° Hz st 1 arisma amet i 76 & =9 # e w9

4. H'ﬂﬁﬁﬁ RIS T WER

Options :



68634025033. 1
68634025034. 2
68634025035. 3
68634025036. 4

Question Number : 60 Question Id : 6863406329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an Inclined terrain, If the elevation difference between the two ends of a line 1s 'h' and the inclined length of
the line 1s 'L, the correction for slope 1s

2

h~

[

=
21"

Options :

68634025037. 1
68634025038. 2
68634025039. 3
68634025040. 4

Question Number : 60 Question Id : 6863406329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TordT A o 8, 3f T T = 9 90 8 =9 @@ Ch' 2w W & ame g LE, @ 2 o e gees
il

| B

Options :

68634025037. 1
68634025038. 2
68634025039. 3
68634025040. 4

Question Number : 61 Question Id : 6863406330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The length of one link in a 20m chain is-

1.25em

[ ]

.20 em
3. 30 ¢cm

4. 35em

Options :

68634025041. 1
68634025042. 2
68634025043. 3
68634025044. 4

Question Number : 61 Question Id : 6863406330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



% 20 m 7 FE d TF 99 = w9 74 50

1.25 c¢cm

-

.20 cm
3. 30 cm
4. 35 cm
Options :
68634025041. 1
68634025042. 2

68634025043. 3
68634025044. 4

Question Number : 62 Question Id : 6863406331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

At the equator, the dip of the needle is-

1.180°
2.0°
3.90°
4.120°

Options :

68634025045. 1

68634025046. 2

68634025047. 3
68634025048. 4

Question Number : 62 Question Id : 6863406331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1.180°
20°
3.00°
4.120°

Options :
68634025045. 1



68634025046. 2
68634025047. 3
68634025048. 4

Question Number : 63 Question Id : 6863406332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Considering Shear waves travelling vertically through a soil layer of depth H. The period of horizontal
vibration of the soil is

1= an illtﬂgﬂl'

WV, = 1s velocity of shear wave

5
4H*
(2n-1)¥s
. 452
2 Ty = —————
(4n-1)H
4H
3. Ty & ————
(2n-1)Fs
25
4. T o ——
o (4n—=1)g Hs
Options :
68634025049. 1
68634025050. 2
68634025051. 3
68634025052. 4

Question Number : 63 Question Id : 6863406332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7f H 7308 99 1 Wa & H9%09 99 T &Y F S04 2, 9 9o % Sf0d S99 = A9 397 77
n =TF [®

Vg = JTH(T T F= =T

,
4H*
LT e
(2n-1)is
< 452
2 Tpy =
(4n-1HH
5 Ty = — 1
2n-1s
I 2V
S (4n—1)o Hs

Options :

68634025049.
68634025050.
68634025051.
68634025052.

BN R S R

Question Number : 64 Question Id : 6863406333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of motion of the spring mass system 1s-

k —‘,KT)-L.{

m L 5 p(D)

1. m% + 2kx =plt)

2. m¥ + 3kx =p(t)

3.mx + % kx = p(t)

4. mx + % kx = p(t)

Options :
68634025053. 1
68634025054. 2



68634025055. 3
68634025056. 4

Question Number : 64 Question Id : 6863406333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

k —\.K_J-C,'.i(-

m ——— p(D)

1. mx + 2kx =p(t)

2. m¥ + 3kx =plt)

3.mx + %kx=p(‘r}

4. mx + % e = plt)

Options :

68634025053. 1
68634025054. 2
68634025055. 3
68634025056. 4

Question Number : 65 Question Id : 6863406334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cantilever retaining walls can safely be used for a height not more than

1.3m

[ B

.4m
3. 5m

4, 6m

Options :

68634025057. 1
68634025058. 2
68634025059. 3
68634025060. 4



Question Number : 65 Question Id : 6863406334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1.3m
2. 4m
3. 5m

4, tm

Options :

68634025057.
68634025058.
68634025059.
68634025060.

B W N -

Question Number : 66 Question Id : 6863406335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

: o2 COs X T
Assertion A: j —dr=—
0 sinx+cosx 4

x2  sinx T

Reason R: j ——dx=—

0 sinx+cosx 4

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

686340250061. 1
68634025062. 2
68634025063. 3
68634025064. 4

Question Number : 66 Question Id : 6863406335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= @ === fau U F - v Afwes (Assertion A) = F1 1§ fofiad § 7 350 39= 0 (Reason R) + =11 ¢

2 COSX T
it A j —dx ==
0 sinx+cosx 4

w2 sinx T

o R: _[ —— iy =—

0 sinx+cosx 4
- I N e
YT+ o ATl o, H= 18 T IEEZ IR R IO 3L SR =A==

1. (A) i (R) 7 7 # 3R (R). (A) 9 w8 s 3

| &%

. (A) i (R) 3 74 §, 36 (R). (A) #1 78 =2mem 7 %

[FN]

(A) T3, 3= (R) T T B
4. (A)TE TR, A R) TR

Options :

68634025061. 1
68634025062. 2
68634025063. 3
68634025064. 4

Question Number : 67 Question Id : 6863406336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R let A and be
two symmetric matrices of order 3.

Assertion A: A(BA) & (AB) A are symmetric matrices
Reason R: AB is symmetric matix if matrix multipliaction of A with B 1s commutative
In the light of the above statements. choose the correct answer from the options given below
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R is false
4. Ais false but R is true
Options :
68634025065. 1
68634025066. 2

68634025067. 3
68634025068. 4



Question Number : 67 Question Id : 6863406336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= @ === fan U F - v AfEwea (Assertion A) = =1 © fofiEd § 71 370 39= $09 (Reason R) + =7 1 . HHIHIATUTB

TSR o &, <l FHd HTHE ¢
aftmea A: A(BA) =1 (AB)A, Tufi soqg £ |
Fru R: AB v= 90 @3z § 77 A 741 B str=gg) o1 09 #AlE0E 3

1. (A) i (R) 7 7 # 3R (R). (A) 9 w8 s 3

[ B

. (A) @ (R) 3 =8 #, 3f (R). (A) 5 =8 s =+ 3

[FN]

(AT, A (R) 7 2
4. (A)TETEE A R) TR

Options :

68634025065. 1

68634025066. 2

68634025067. 3
68634025068. 4

Question Number : 68 Question Id : 6863406337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: If an event is certain to happen then its probability is unity.
Reason R: If an event is certain not to happen then its probability 15 —

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| B)

. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R is false

4, A is false but R is true

Options :

68634025069. 1
68634025070. 2
68634025071. 3
68634025072. 4



Question Number : 68 Question Id : 6863406337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= % 7= far 1 # ;7 Afewea (Assertion A) ¥ w1 I fafigd & 71 350 35 sRw (Reason R) F =7 4 ¢

o - R N Vs
Fav R: 7z 55 960 Wivgd @ 58 907 9 390 Wiawal — #1

2
1. (A) #= (R) 74 5= % #1 (R). (A) = 73 =971 3|
2. (&) ¥ (R) 2 w2 3, 375 (R). (A) % = e 781 &
3. (A)F= &, 9t (R) o937 3
4 (A)=mmaz, = (R)7= 2
Options :
68634025069. 1
68634025070. 2

68634025071. 3
68634025072. 4

Question Number : 69 Question Id : 6863406338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R

Assertion A: Cantilever. Simply supported & overhanging beams are known as statically determinate beams.

Reason R: Statically Determinate teams are those beams in which reaction of the beams at their supports can
be determined by the use of equations of static equilibrium

In the light of the above statements. choose the correet answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. A is true but R 1s false
4. A is false but R is true

Options :

68634025073. 1

68634025074. 2

68634025075. 3
68634025076. 4



Question Number : 69 Question Id : 6863406338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

= % 7= far 1 # ;7 Afewea (Assertion A) ¥ w1 I fafigd & 71 350 35 sRw (Reason R) F =7 4 ¢

SAftrrem A FEEER, TTET SEwE 9] =T YEet S0 w5 ey TiEE w69 5y = i)

= R gisasTy: i 1‘a’ﬁa‘gr'%ﬁqﬁaﬁr?faimer"fﬂm“ﬂmﬁaﬁﬁmmm T 3 FHTE % ITEm g PeiE e
TG %I

1. (A) #r (R) & =7 # 3 (R), (A) F1 = zamemr 2

-

- (A) ¥ (R) 75 7 %, 55 (R). (A) %1 =1 = 77 2
3. (A) 7= 3, 3 (R) e &
4 (A7 s o= (R)7= 2

Options :

68634025073. 1
68634025074. 2
68634025075. 3
68634025076. 4

Question Number : 70 Question Id : 6863406339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: Composting is the most commonly used process for the decomposition of organic components
of municipal solid wastes.

Reason R: Bangalore method is a common anaerobic method used for biological conversion of organic
components of municipal solid waste

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. A is true but R 1s false
4. A 15 false but R is true

Options :

68634025077. 1

68634025078. 2

68634025079. 3
68634025080. 4



Question Number : 70 Question Id : 6863406339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= @ === fau U F - v Afwes (Assertion A) = F1 1§ fofiad § 7 350 39= 0 (Reason R) + =11 ¢

A A HETE @fwmmﬁaﬂﬂﬁm T8+ = U2 = U9 & [0 569 AT T &% § 300 § W8 S 5=

ﬂ?ﬂ:.ﬂi, a.v..-q“.afj‘] %!

wrw R: SfArEifad & @6 30 919 28 SRS F FEEE 95 5 SEF T F 9 o I 8 a9 9 ael g9rgeiy m,

IHF F o A 5, 3 4 T fawes € FeY I9gE S0 1 =0 S

L. (&) 1 (R) 35 79 # 5 (R). (A) F 78 =27 3

B}

(&) i (R) 37 7 2, 3 (R). (A) 9 7 s 7 3

LFN]

(&) ?, F R) T
4 Q=L IR R)FEE

Options :

68634025077. 1

68634025078. 2

68634025079. 3
68634025080. 4

Question Number : 71 Question Id : 6863406340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: The leakage losses are less when the water supply 1s intermittent
Reason R: Pressure is less in intermittent water supply
In the light of the above statements. choose the correct answer from the options given below
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 1z NOT the correct explanation of A
3. A 1s true but R is false
4. A 15 false but R 1s true
Options :
68634025081. 1
68634025082. 2

68634025083. 3
68634025084. 4



Question Number : 71 Question Id : 6863406340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
= @ === fau U F - v Afwes (Assertion A) = F1 1§ fofiad § 7 350 39= 0 (Reason R) + =11 ¢
AYFE A 75 7 A0 ATFIEF 3l 2 9 = FE 3] g 0§ S 2
HW R: A0l 5@ A4 § 48 %4 5 6

L. (A) 3 (R) 3 7 # i (R). (A) F 8 =7 2

| S

. (A) # (R) = == 2, =t (R). (A) i =2 s97&71 96 &
3. ()72, 3 R) = 2
4. (A) =@ T 3, 5 (R) =81 %

Options :

68634025081. 1

68634025082. 2

68634025083. 3
68634025084. 4

Question Number : 72 Question Id : 6863406341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: Displacement seismograph is known as short period seismograph

Reason R: An acceleration seismograph 1s also known as short period seismograph

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R i1s the correct explanation of A

| )

. Both A and R are true and R 18 NOT the correct explanation of A
3. A 1s true but R 1s false

4. A is false but R is true

Options :

68634025085. 1
68634025086. 2
68634025087. 3
68634025088. 4



Question Number : 72 Question Id : 6863406341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= % 7= far 1 # ;7 Afewea (Assertion A) ¥ w1 I fafigd & 71 350 35 sRw (Reason R) F =7 4 ¢

AT A e s (qFTeEl) F A0 FbY SEIEEl FEd 1
w0 R: 7% =0 ETEE #9599 gEuedl O 75 3

1. (A) ¥ (R) 3 77 # 3k (R). (A) F =8 =wrem 2

| &%

. (A) &t (R) 34 =7 %, 5 (R). (A) 51 =81 o7 = 3
3.(A)TE 2, 3R (R) =8 78 2
4. (A) w8 T 3, 3P (R) od &

Options :

68634025085. 1
68634025086. 2
68634025087. 3
68634025088. 4

Question Number : 73 Question Id : 6863406342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following soils with respect to increasing order of realizable friction ratio

A. Loose Gravel Fill

B. Sands or Gravels

C. Clay sand mixture and Silts
D. Clay & Peats

choose the correct answer from the options given below:

LLAB.C&D
2.D,B.C&D
3)A.C.B.&D
4.D,C.B. &A

Options :

68634025089. 1

68634025090. 2

68634025091. 3
68634025092. 4



Question Number : 73 Question Id : 6863406342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ttatas gat =1 3o wd @9ve F w2 § o =6 F fag

B. 3 @ d99
C. ot e 9 =7 +1 Forw w R1ec (m)
D. == fied w1 12 (521 = 9rE-T)

= Tou 7 TEeS B ° OE 39 W =T S

1.LABC&D

| o]

DB, C&D
JACB.&D
4 D.C.B.&A

Options :

68634025089. 1
68634025090. 2
68634025091. 3
68634025092. 4

Question Number : 74 Question Id : 6863406343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

{name of quantities) |(units of quantities in SI system)

A | Dynamic Viscosity | I | Nim

B. | Kinematic Viscosity | IT. [N.m

C. | Surface Tension I | N S/m?
D. | Energy IV. | m%/s
E | Specific Weight V | N/m3

Choose the correct answer from the options given below:
1. A- IV, B-III, C-1. D-II. E-V
2. A-TIT, B-IV, C-1. D-II, E-V
3. A-IL. B-IV, C-L. D-III, E-V
4. AL B-IV, C-V, D-L E-II
Options :

68634025093. 1
68634025094. 2



68634025095. 3
68634025096. 4

Question Number : 74 Question Id : 6863406343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= [ % 7w 5= 11 =01 famms =i

o 1 (AT o 11 (SI §3T%)
T 1.

A, pf® = N/m
B. [ o e | 11 [N.m
C. | wm I | M &/m?
D. == IV. |m¥/S
E. [7=i V. [N/m?

Jr= fom mu famenl 8 ° wE IO 1 =9 S
1. A-TV. B-III. C-1. D-1IIL E-V
2. A-TII, B-IV, C-L. D-IL. E-V
3. A-IL B-TIV, C-1. D-IIL. E-V
4. A-III. B-IV. C-V, D-[, E-II

Options :

68634025093. 1
68634025094. 2
68634025095. 3
68634025096. 4

Question Number : 75 Question Id : 6863406344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The probability based assessment of safety is ensured by-

A Plastic Analysis

B. Statistical method

C. Reliability Approach
D. Working stress method
E. Limit state Design

choose the correct answer from the options given below:

1. A & B are correct

[ ]

. B & C are correct

3. C & A are correct

4. D & E are correct



Options :

68634025097. 1
68634025098. 2
68634025099. 3
68634025100. 4

Question Number : 75 Question Id : 6863406344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T o Awal-AG1E Awe # 59 § F T g0 gHmag = = &7

B. ﬁals.aﬂ ﬂ_'q’.' Q‘j-_i
C. 3t o7 ol
D. iz == 7%y

I= fop o sl § 0 OF I W = S
1.A&BURIE
2B&C UGG
3.C & AGE®
4.D&ETSE

Options :

68634025097. 1
68634025098. 2
68634025099. 3
68634025100. 4

Question Number : 76 Question Id : 6863406345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the correct sequence of the following treatment units employed in a conventional sewage treatment
plant?

A. Screen chamber

B. Primary settling tank
C. Trickling filter

D. Unit chamber

E. Secondary settling tank

choose the correct answer from the options given below:
LED.B.C&A
2ADBCE&E
3 EBCIL&EA

4. AD.C.B.&E

Options :

68634025101. 1
68634025102. 2
68634025103. 3
68634025104. 4

Question Number : 76 Question Id : 6863406345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt T Teed I9EE 5949 ° i HetatEs e s =1 96 79 4 50

A I =y w0

B. mmi= 59 =
C. = e

D. t#= =g /%E

Jr= fau mu fament § B wE S S =99 S
1.LE.D.B.C&A
2.ADBC&E
JEB.C.D &A
4 ADCB&E

Options :
68634025101. 1
68634025102. 2

68634025103. 3
68634025104. 4



Question Number : 77 Question Id : 6863406346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following set of internal angles of triangle does not show well condition triangle

A 20.90.70
B. 25, 45, 110
C. 40, 125,15
D. 35, 80, 65

choose the correct answer from the options given below:

1.LAB&D

| )

AB&C
3B&C
4.C&D

Options :

68634025105. 1
68634025106. 2
68634025107. 3
68634025108. 4

Question Number : 77 Question Id : 6863406346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. 20,90, 70
B. 25,45, 110

C. 40, 12515
D. 35, 80, 65

1.LAB. &D

| B}

A B&C
3B&C
4.C&D

Options :

68634025105. 1
68634025106. 2
68634025107. 3
68634025108. 4



Question Number : 78 Question Id : 6863406347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are requirements for design of a transition curve for a highway system

A. Rate of change of grade

B. Rate of change of radial acceleration
C. Rate of change of super elevation
D. Rate of change of curvature

E. Rate of change of traffic volume

choose the correct answer from the options given below:

1.LAB&C

| )

.B&E
3JJAC&D
4.B.C.&D

Options :

68634025109. 1
68634025110. 2
68634025111. 3
68634025112. 4

Question Number : 78 Question Id : 6863406347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt Tt vghh o waw =% % (5 = fan B= (arR) § © w3-= AeeEes i

B. #im = F e 1 =

C. #T5-3==a1 § Timda 51 =L
D aFad e Hf =

E. wrarms faged & viE6a i =

= Tan U TEEetl § W HE I W =94 S0

1.LAB&C

-

.B&E
JACED
4.B.C.&D

Options :

68634025109. 1

68634025110. 2
68634025111. 3



68634025112. 4

Question Number : 79 Question Id : 6863406348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following factors are taken into consideration for determining yellow time of traffic signal at an
intersection

A. Length of vehicle

B. Width of vehicle

C. Approach speed

D. Stopping time for approaching vehicle
E. Passing sight Distance

choose the correct answer from the options given below:

1.LAB&E

| )

.B,C&D
3JACKE
4.A.C&D

Options :

68634025113. 1
68634025114. 2
68634025115. 3
68634025116. 4

Question Number : 79 Question Id : 6863406348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cy o g

feplt <tk v ararT Sk DI i adt % aw F Rt 3 fre B § & 99 9w 9o s e

D. 9= 74 915 F T 5 99
Jr= fom mu o=t 8 B wE w9 S =9 S
1.LAAB&E
2.B,.C&D
JAACEE
4 A C&D

Options :



68634025113. 1
68634025114. 2
68634025115. 3
68634025116. 4

Question Number : 80 Question Id : 6863406349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Three types of bearing capacity failures are general Shear failure. local Shear failure & punching
Shear failure

Statement IT: MeyerLoff is known as father of Soil mechanics

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement [ is true but Statement IT is false

4, Statement [ 15 false but Statement II is true

Options :

68634025117. 1
68634025118. 2
68634025119. 3
68634025120. 4

Question Number : 80 Question Id : 6863406349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEEwmEATEmTmE
w4 (I) : 977 5743 =1 500 § 95 F51 6 A9%aaN] 7 - 99 AT A9Eadl, RTHE ATET 9GO 99 S84 FTETT
we (II) : 3T & 97 BRaTEiy &1 59 56 = 2

l.eA () #R(Il) z= 52 2 |
2.7 () @ (1) 29 === % |
3.9 (1) 9w 2, of == (1) @9 )
4. %= (1) w5 &, v = (1D 729 3
Options :
68634025117 1

68634025118. 2
68634025119. 3



68634025120. 4

Question Number : 81 Question Id : 6863406350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Darcy's law is a particular case of the general viscous fluid flow.

Statement IT: It has been shown valid for Laminar flows only

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

| )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

68634025121. 1
68634025122. 2
68634025123. 3
68634025124. 4

Question Number : 81 Question Id : 6863406350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=g A e g

w4 (I) : =5 = fog=7 99— 790 T %978 1 OF [958 3950 7 |
w@ (II) : =50 397 720 5 & (a0 8 38 a9 =74 3

ITE A F d@E= 8, 59 fin e T § ol e = = Hie

l.w= () s (I e =2

2. FH

A

(I) o (IT) 2 =3 & |
3,997 (I) ve 3, o === (1I) @9 7
4. w7 (1) arges &, i = (1) wem 2

Options :

68634025121.
68634025122.
68634025123.
68634025124.

AW N =

Question Number : 82 Question Id : 6863406351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: PERT is based on deterministic approach

Statement II: CPM is based on probabilistic approach

In the light of the above statements. choose the correcr answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement 1T are false
3. Statement I is true but Statement II is false

4. Statement [ 1s false but Statement II is true

Options :

68634025125. 1
68634025126. 2
68634025127. 3
68634025128. 4

Question Number : 82 Question Id : 6863406351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR wAfmmE:

w29 (I) : (PERT) w2 o= =omm W anare 3

[ (II) :  CPM Wifserard= U7 T Amemid &

I T % AT 8, O 9 T e § F O = e = A

l.w= () s (I e =2

2.7 (1) 3 (I1) 39 e 8

3. % (1) wew 3, 3 9 (1) amme 3

4. w7 (1) arges &, i = (1) wem 2
Options :
68634025125.
68634025126.

68634025127.
68634025128.

A W N =

Question Number : 83 Question Id : 6863406352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: "Pratt Trusses" are structurally better than "Howe Trusses"

Statement II: Pratt trusses are favoured because due to gravity loads the longer member will be in tension
while for Howe Truss, the longer members will be in compression

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement [ 15 false but Statement II 1s true

Options :

68634025129. 1
68634025130. 2
68634025131. 3
68634025132. 4

Question Number : 83 Question Id : 6863406352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®e (I): “Howe @ =i g@w & "W g8 FTa= =9 8 95d T0d 2
o (I1) : e =+ 9%E &0 =0 & 7= Tom 9 = F#F0 J9= 909 5599 70e § T S Howe T8 = fou afy=

1w (D) s (I 5 a2 & |
2,994 (1) o (1) 3 =g &
3.7 (1) 907 3, o === (1) 507 3
4. w7 (1) g 3, v = (1D 703 )
Options :
68634025129. 1
68634025130. 2

68634025131. 3
68634025132. 4

Question Number : 84 Question Id : 6863406353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In India. the legal axle load for single axle is 10.2 tonnes.

Statement II: In India. the standard axle load 1s 10.2 tonnes

In the light of the above statements. choose the correcr answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement [ 1s false but Statement IT is true

Options :

68634025133. 1
68634025134.2
68634025135. 3
68634025136. 4

Question Number : 84 Question Id : 6863406353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEE AT TmE
we (I): 9ara d v g = oudg gd 9w 102 = 7
F (II): wswdom=sgiam 10273

1.9=m (1) s (II) S =8 &
2.%= (1) dm (II) 2= e 2
w1 g, s e (1) T3 7
4. %= (1) o7 3, o == (I1) =801 2
Options :
68634025133. 1
68634025134. 2

68634025135. 3
68634025136. 4

Question Number : 85 Question Id : 6863406354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Nagpur road conference was convened in 1943 by the Government of India to finalise the first
road development plan for the country.

Statement II: The first 20 year road development plan, popularly known as the Nagpur Road Plan.

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement [ 15 false but Statement II 1s true

Options :

68634025137. 1
68634025138. 2
68634025139. 3
68634025140. 4

Question Number : 85 Question Id : 6863406354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

we (I) :  wwa T g 1943 & 975 95+ T &1 A 1 77 | T 98 o [0 WU 95 faw A ® Af09 W9 4
Term T T AT
w1 (II) : w20 =97 7= T 397 790 95= 799 % 79 3 TfEg £

1.w=m (1) s (II) 5 =dr
2.7 (1) & (1) 3= =3 & |
3. 747 (1) 78 3, 37 == (I1) 77 2
4. === (1) g 2, wfe === (11) 981 2

Options :

68634025137. 1
68634025138. 2
68634025139. 3
68634025140. 4

Question Number : 86 Question Id : 6863406355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: pH are measured by Jackson turbidimeter

Statement II: Turbidity 13 measured by Jackson turbidimeter

In the light of the above statements. choose the correcr answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement 1T are false
3. Statement I is true but Statement II is false

4. Statement [ 1s false but Statement IT is true

Options :

68634025141. 1
68634025142.2
68634025143. 3
68634025144. 4

Question Number : 86 Question Id : 6863406355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEE AT mE
we (I) : pH =1 ore 9= anfEaaEdl g 6 =i 2
e (1) :  Ffaws =1 979 S99 Afaaamm; g fFa =

e

=
oy

1.wm (1) o (1) S = &
2. == (1) afm (I1) 3 7ara % |
w1 g, s e (1) T3 7
4. === (1) a7 3, wfe === (1) 981 2

Options :

68634025141. 1
68634025142.2
68634025143. 3
68634025144. 4

Question Number : 87 Question Id : 6863406356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Considering consistency limits or Atterberg limits four fine grained soils:

A. Liquid limit is the water content corresponding to arbitrary limit between liquid & plastic state

B. Plastic limit 1s the water content corresponding to arbitrary limit between plastic & semi-solid state

C. Shrinkage limits 15 defined as the maximum water content at which reduction i water content will not
cause decrease in volume of soil mass

D. Plasticity Index is defined as numerical difference between liquid limit & Shrinkage limit

E. Consistency Index or Relative consistency is the ratio of plasticity Index and Liquidity Index

choose the correct answer from the options given below:
1.D & E only
2.A B&Conly
3.C.D & E only
4.C & D only

Options :

68634025145. 1
68634025146. 2
68634025147. 3
68634025148. 4

Question Number : 87 Question Id : 6863406356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEA w7 04 % Hed H B8lad HEIA T Toed S = S 1 TE@d g

A, T S5 S 1 g 9 R S A AN e $Ee F w6 A g F 590 3

B. wfies w=mn o 1 95 9 3 5 wiess w0 A 9 w9 % o S 9 % aasy )

C. 2= =1, == i 7% Aasan 7= ¢ 1599 70 1 0= 5 F4 dH ¥ gy =g F T 0 g g A
E. 994 Tasi= o1 91ig 99iaq, @ik U 01 wadl GosE & 919 1 |

= T o el © O OE SO W =5 Sl

1. PAAD & E

2.+ a7 A.B&C
3.989C.D&E
4. +F77C&D

Options :

68634025145. 1
68634025146. 2
68634025147. 3
68634025148. 4



Question Number : 88 Question Id : 6863406357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Regarding effective length (KL) of column the statements are-

A. For braced frames. can never be more than 1

B. For unbraced frames. will always be more than 1

C. For braced frame. may be greater than one

D. For unbraced frame. will always be less than one

E. It always equal to one for braced and unbraced frames

choose the correct answer from the options given below:

1.LA&B

2

C&D
3 E&D
4 B&C

Options :

68634025149. 1
68634025150. 2
68634025151. 3
68634025152. 4

Question Number : 88 Question Id : 6863406357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fiad = FaEeEl gae (KL) = &y 1§ FHeratas #7 §

A. 5fg ¥ % fre it HI 1 & ofes =80 @ =
B. 5 ¥ P fouwg 1 & arfes 314 3

C. <t il O fow 1 & afes @ w91 )

D. 17 it F fw w1 & =0 3 3

l.+99 A& B
2.%a9 C&D
3.%59 E&D

4 %7 B&C

Options :

68634025149. 1
68634025150. 2
68634025151. 3



68634025152. 4

Question Number : 89 Question Id : 6863406358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Critical Path Method is good for
A. Small projects
B. Large projects
C. Both small and large projects

D. Neither small and large projects

Choose the correct answer from the options given below:

1. Aonly

| )

. B only
3. C only
4. D only

Options :

68634025153. 1
68634025154. 2
68634025155. 3
68634025156. 4

Question Number : 89 Question Id : 6863406358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fitaw AP fatg 7 | e fog s=sf 27

;%E‘ﬁf' il -‘Z
B. =g wiwisan
C. St w521, I T 1 T

l.¥a7 A
2.5 B
J.Faw C
4.3 D
Options :
68634025153. 1

68634025154. 2
68634025155.3



68634025156. 4

Question Number : 90 Question Id : 6863406359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The stress reduction factor tor an axially loaded compression member depends upon which of the following
tactors-

A. Residual stresses

B. Initial crookedness

C. Accidental eccentricities of load
D. Type of cross-section

Choose the correct answer from the options given below:
1. A.B. C only
2.A.C.D only
3.B.C.D only

4. A.B.C.D

Options :

68634025157. 1
68634025158. 2
68634025159. 3
68634025160. 4

Question Number : 90 Question Id : 6863406359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TFET AHT qTE TUE 58 = 00 798 8 A T 91 Fs e D F T e T O o B

B. s O

l.¥a5A.B.C

2.%a7 A C.D

3.8 B.C.D

4.+=7A.B.C.D
Options :

68634025157. 1
68634025158. 2



68634025159. 3
68634025160. 4

Question Number : 91 Question Id : 6863406360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are responsible for the formation of photochemical smog?

A. Light mtensity
B. Ratio of Hydrocarbons to nitric oxide
0 Q0o

D. Hydrocarbon reactivity
choose the correct answer from the options given below:
1.A.B.C & D only
2.A.B &D only
3.B.C & D only
4. A B & C only
Options :
68634025161. 1
68634025162. 2

68634025163. 3
68634025164. 4

Question Number : 91 Question Id : 6863406360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frer i & 17 Xl TeE YHBIEY F 5 5 i st

e

?

B. gEg=E= 5 iz dieEEs = 99T
C.CO,
D. zrsrEs wliam

J= fou T EEen B 0 HEE I9AE S =5 S0
l.+a5A.B.C&D
2.%@7A.B&D
3. #7a@B.C&D
4+F7A.B&C

Options :
68634025161. 1



68634025162. 2
68634025163. 3
68634025164. 4

Question Number : 92 Question Id : 6863406361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following equipments can be employed for measurement of horizontal distance

A. Tacheometer
B. Odometer

C. Passometer
D. Perambulator

choose the correct answer from the options given below:

1.A. B.C &D only

[ ]

.A & B only
3.B & C only
4. A & C only

Options :

68634025165. 1
68634025166. 2
68634025167. 3
68634025168. 4

Question Number : 92 Question Id : 6863406361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfas ¢ % o= % fau B 0 9 609 9 3w 1 3w TR S g B

A wEurd] /e

C. igmr=

D. vew
1.¥79A.B.C&D
2.F=7A&B

3. ¥=aB &C

4 FaA&C

Options :
68634025165. 1



68634025166. 2
68634025167. 3
68634025168. 4

Question Number : 93 Question Id : 6863406362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following are the general design requirements of retaining wall?

A. The factor of safety agaist sliding should be atleast 1.5

B. The factor of safety against overturning should be atleast 2.0.

C. The bearing pressure at toe should be less than bearing capacity of soil

D. The length of retaining wall to be cast in one go shoud not exceed 10m otherwise crack may develop

Choose the correct answer from the options given below:

1.A.B & D only

[ ]

.B.C & D only
3.A.B Conly
4. A C&D only

Options :

68634025169. 1

68634025170. 2

68634025171. 3
68634025172. 4

Question Number : 93 Question Id : 6863406362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
a0 /e F TN = 8 8§ 39 T 9 ST SETEEa 50

A, w9 ¥ fawng g w1 @ %9 4§ =9 1.5 g9 =i

B. viga@ * fo5g Ty = =8 & #9 2.0 7 =iz

C. 78 = ftwom v, 49 = figmm goa 3 =0 g9 =i

D. u* @ =R # 51E S dreil g i i wmrs 10 diew 8 @i 95 g =106y 96 9] 1 S |

= fau U el 0§ HeE I0AE I F 99 S0
1.¥=a7A.B&D
2.7a@B.C&D
3.FE7TA.B C
4 Fa7A.C&D

Options :
68634025169. 1



68634025170. 2
68634025171.3
68634025172. 4

Question Number : 94 Question Id : 6863406363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LISTII
oo Drain is taken over canal & FSL is
A [AQUEDHCE k below the bottom of Drain trough
p, [SEHoN: 1. b conat s sttt B levelof
- | AQUEDUCT - |the canal is above the bed level o
[Drain trough

Canal 15 taken over the natural drain
C. | SUPER-PASSAGE | III. |8 HFL of drain is below the bottom

of canal
CANAL SYPHON. ) Canal 15 ta.ken. over the natural drain
o |5 s IV, |& HFL of drain 1s above the canal
SYPHON bed

Choose the correct answer from the options given below:
1. A-IT. B-IT1. C-1. D-IV
2. A-IV. B-111, C-I1. D-I
3. A-IIL B-IV. C-1. D-1I
4. A-1. B-II. C-III, D-IV

Options :

68634025173. 1
68634025174. 2
68634025175. 3
68634025176. 4

Question Number : 94 Question Id : 6863406363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= I % == 5= 11 =1 fiam Sk

a1 = 11
n [ I Hi o1 T8l % e 8 o W ¢ g FSLam &
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H Tl A8l % H9 S o 710 £ 99 790 % FSL =t

=l F I % T I O e R R

et w1 TR A ¥ S T # oo 9w HEL
et = 9 4 1= =

20 #1 W(d= 1 § 79 Tad 2 941 7 =1 HEL
et % 7o O STl R 2|

C. gy I

D. [ aee A | IV,

% fam o famedl § B 98 391 1 =9 S

1. A-IL. B-1II. C-I. D-IV

| B}

CA-IV, B-III, C-I1. D-I
3. AT, B-IV. C-1. D-IT
4. A-L. B-11, C-III. D-IV

Options :

68634025173. 1
68634025174. 2
68634025175. 3
68634025176. 4

Question Number : 95 Question Id : 6863406364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Dimensionless Number Ratio

T
A |Revnold's Number| L  mbkhig loroe

I—
\| Gravity force

B. | Froude's Number | II. | Inertia force/ viscous force

C. | Euler's Number 10T Illw
Y elastic force

|.—._
o | enemmanes | | J 2R

\ Pressure force

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. AL B-L. C-IL. D-IV
3. AL B-IIL C-1. D-IV
4. A-II. B-III, C-1. D-IV

Options :

68634025177. 1
68634025178. 2
68634025179. 3
68634025180. 4

Question Number : 95 Question Id : 6863406364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= I % == 5= 11 =1 fiam Sk

ol | et 11
HAWEH HE
A = = T I Ty
Teed ool
B. [Frs = == 1. [¥59 &=,/79+ ad

C. Q@Q =1 7

= Tem o o O W HE 39T R =T S

1. A-I. B-II. C-III. D-IV
2. A-IIL. B-1. C-II. D-IV
3. AL B-II. C-1. D-IV
4. A-I1. B-I11. C-1. D-IV

Options :

68634025177. 1

68634025178. 2

68634025179. 3
68634025180. 4

Question Number : 96 Question Id : 6863406365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LIST II
A | Young's modulus I. |Lateral strain / Linear strain
MNModulus of ; ol
B. B gidity I1. | Shear stress’ Shear strain
C. | Poisson's Ratio IIL Longlltud%nal poew
[ ongitudinal strain
D. | Bulk Modulus v :i;lfﬂnc stress’ Volumetric

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. A-IL B-1. C-I1. D-IV
3. A-IIL B-1I. C-1, D-IV
4. A-IV. B-1I1. C-11. D-1
Options :
68634025181. 1
68634025182. 2

68634025183.3
68634025184. 4

Question Number : 96 Question Id : 6863406365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 15 7w e 1L s i

el T 10

B. [fz7 =1 @M= 11 [ == /=T B
C. e = g 111 [ /=g i
D. [m=f wr IV. [t T st Rl

9= Tou 7o TEeT B H OE 39 9 =S S

1. A-I. B-II, C-III. D-IV

l

2. AT, B-1. C-11. D-IV
3. AL B-1I. C-1. D-IV
4. A-IV. B-III. C-II. D-I

Options :

68634025181. 1
68634025182. 2
68634025183. 3
68634025184. 4



Question Number : 97 Question Id : 6863406366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
o }'Ieﬂ_lbers subjected to direct L. bkl
tension of COMpPIession
 Toining two surface at 90° II. peam weld
A hole 1s made in one point
C. |and welding 1s done on 11 |fillet weld
periphery
Pressure 1s applied . )
D. : iy IV. [Butt weld
contineously

Choose the correct answer from the options given below:
1. A-IV, B-II, C-IIL D-I
2. A-IV, B-III. C-II., D-I
3. A-IV. B-III. C-1. D-II
4. A-L. B-II. C-IIL. D-IV

Options :

68634025185. 1
68634025186. 2
68634025187. 3
68634025188. 4

Question Number : 97 Question Id : 6863406366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 7 = 11 s i

0 1 e 1L
A |y T @ o9 § e ge= 1 [Ei=T ==
B [2 99 = 90° =tz I [ferioes
. [== um s o a2 vy viom d S Y.
3 ST III. & =7
D. [Fr == == am 2 IV ===

= Team e faeat ® © T 39 1 =99 i

1. A-IV, B-II, C-III, D-I
2. A-IV. B-III. C-I1. D-I
3. A-IV. B-II. C-1. D-II
4. A-L. B-II. C-IIL. D-IV

Options :

68634025185. 1

68634025186. 2

68634025187. 3
68634025188. 4

Question Number : 98 Question Id : 6863406367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Dissolved selids| I | Sedimentation

Colloidal solids | II. | Reverse osmosis

Volatile solids | ITT. | Coagulation
Settleable solids | IV. | Digestion

e

Choose the correct answer from the options given below:

1. A-IL. B-III, C-IV. D-I

| E)

AL B-I1. C-IV. D-1
3. A-IL B-IIL. C-1, D-IV
4, A-II1, B-IL. C-1, D-IV

Options :

68634025189. 1
68634025190. 2
68634025191. 3
68634025192. 4



Question Number : 98 Question Id : 6863406367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= [ % 7w 5= 11 =01 famms =i

| g 11
A [Emmam [ ==

B FromEm sm 1. =t s
C. [ 2m 111 j==

D. [f= 77 3= 3% IV =

20 TG Tl § H WA I W = S

i
o

1. A-IL. B-I11I, C-IV., D-I

2. AT, B-1IIL C-IV, D-I

&S]

AT B-IIIL C-1 D-IV
4. A-I11, B-1I. C-1. D-IV

Options :

68634025189. 1
68634025190. 2
68634025191. 3
68634025192. 4

Question Number : 99 Question Id : 6863406368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
y Bringing the various fixed part of
A djustment of : : :
A i I. [the instruments into proper
surveying Instruments ;
AT relation
B. [Bowditch's Rule II. |solution of 3 point problem
B bt e i\f::easuring all the angles and base
D. [Bessel's Method v Balancing the latitudes &
departure

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV

| B)

AL B-IV. C-1, D-11
3. A-L. B-IV. C-II. D-II
4, A-II1, B-I1. C-1, D-IV

Options :



68634025193. 1
68634025194. 2
68634025195. 3
68634025196. 4

Question Number : 99 Question Id : 6863406368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 [ % = 5= 11 =1 fiem S

T 1 i 11
= = ol = fatee T 9 1 T g ® A 3
Al L L bz em
B. [fe= =1 fam [1. |3-fg =0em %1 5=9H
C_ [ IIL. [ait ivit aan e T s A1
D. [f= %1 e IV. [Fefi g7 7en Jrewd = wgiem e

= Tem o o O W HE 39T R =T S

1. A-I. B-II. C-III. D-IV
2. A-IILL B-IV, C-I. D-II
3. AL B-IV. C-II1. D-II
4, A-IT1. B-11. C-1. D-IV

Options :

68634025193. 1

68634025194. 2

68634025195.3
68634025196. 4

Question Number : 100 Question Id : 6863406369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Material) (Damping Ratio)
A | Concrete I 112%
B. | Steel I [ 53— 7%
C. | Wood I | = 2%
D. | Brick IV | 5%

Choose the correct answer from the options given below:

1. A-IL. B-I1I. C-1. D-IV

[ ]

. A-IV, B-III. C-I, D-I1
3. A-L. B-II. C-III. D-IV
A-TV. B-1I. C-I1I. D-1

Options :

68634025197. 1
68634025198. 2
68634025199. 3
68634025200. 4

Question Number : 100 Question Id : 6863406369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 [ % = 5= 11 =1 fiem S

T [ g 11
e fEm UG I
A, [t 1. [12%
B. [F= I 5-7%
C FEo== 1L |= 2%
D. [E V. 5%

= T o el § 9 BE S F =99 S

1. A-IL. B-III. C-I. D-IV
2. A-IV. B-IIL. C-1. D-II
3. A-I. B-II. C-III. D-IV
4. A-IV. B-I1. C-III. D-I

Options :

68634025197. 1

68634025198. 2

68634025199. 3
68634025200. 4



